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ESEMPIO

Parola chiave (Verme)

Messaggio in Chiaro: Mancano le

munizioni
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1.BCDEFGHI
22CDEFGHI
3.DEF GHI

4. EF GHI

5.F GH I
6.G H I

JKLMNOPQRSTUVWXYZAB

JKLMNOPQRSTUVWXYZABC

JKLMNOPQRSTUVWXYZABCD

JKLMNOPQRSTUVWXYZABCDE

JKLMNOPQRSTUVWXYZABCDETF

JKLMNOPQRSTUVWXYZABCDEFG
JKLMNOPQRSTUVWXYZABCDEFGH

7.H I

8.

99 KLMNOPQRSTUVWXYZABCDEFGHI
1000 KLMNOPQRSTUVWXYZABCDEFGHI
11.L MNOPQRSTUVWXYZABCDEFGHI

J

J K

J KL
JKLM
J KL MN

122MNOPQRSTUVWXYZABCDEFGHI
I3.NOPQRSTUVWXYZABCDEFGHI
14 0PQRSTUVWXYZABCDEFGHI

J KL MNO
JKLMNOP
JKLMNOPS

IS5 PQRSTUVWXYZABCDEFGHI

166 QRSTUVWXYZABCDEFGHI

17"RSTUVWXYZABCDEFGHI

JKLMNOPQR

18.STUVWXYZABCDEFGHI

JKLMNOPQRS

199 TUVWXYZABCDEFGHI

JKLMNOPQRST

20 UVWXYZABCDEFGHI

JKLMNOPQRSTU

2LVWXYZABCDEFGHI

JKLMNOPQRSTUYV

22. WXYZABCDEFGHI

JKLMNOPQRSTUVW

24 XY ZABCDEFGHI

JKLMNOPQRSTUVWX

25.YZABCDEFGHI
26, ABCDEFGHI

JKLMNOPQRSTUVWXYZ
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Al contrario
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